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[1] 2000000 12000|f(2) — f(2)| 0 fO00DD0O

2] 27p, 000 8000 Au = tige + uyy =62 — 62 =00 y0 v 000000
3]44p0000 500000000000000000000000.

[4]61p0000 100000000000000000O0DO000.
[5]66p0000 100000000000000000MO0DO000.

(6] 66p0 000 500000000 DOM0D0mMO0O0.

[7]76p0000 20004+ %+%..00 L+ 5+4..00000c000010000M
[§] 102p0000 900D000000000000000000000D.

[9] 102p0000 10000051 00000000O0M510000000M0O00.

[10)153p0 0000 9000C-ROODDO0OO0OU0ODODOOODOOO0ODOOO 2400
goo

[11]153p00000 1400000000000 102000000000000 1020000.

[12) 154p0 0000 70002 000000000 1900000000 155p00000
good



